
FI Doc Part No: H18-1   -  Issue: 1.1  -  07/07/20

Unlock your vehicles potential

4x4 Accessories

www.Hsputelids.com

H S P  T A I L  L O C K
F i t t i n g  i n s t r u c t i o n s

1300 441 498
Part No: H18-1
Fitting Time: 45mins

T O Y O T A  H I L U X

Page 01of 10



Page 02 of 10

G e n e r a l  N o t e s

S a f e t y  N o t e s

F i t t i n g  t i m e

P a r t s  s u p p l i e d

- Read through the fitting instructions prior to installation 
of accessory.
- Ensure all recyclable components and packaging
are discarded and recycled following local recycling 
regulations.
- Safely store and protect any removed vehicle
components.

- Check that all work practices comply with safety
standards. 
- Please wear appropriate clothing and use safety 
equipment. 

45mins

- Read through the fitting instructions before installation of accessory.

- Ensure all recyclable components and packaging are discarded and recycled following local recycling 
regulations.

- Safely store and protect any removed vehicle components.

- Check that all work practices comply with safety standards.

- Please wear appropriate clothing and use safety equipment.

45 minutes

General Notes

Safety Notes

Fitting Time

Page 02 of

Parts Supplied

Tools and Materials Required

Phillips Head Screw Driver Spanner Set Ratchet & Socket Set

DCB

Side Rails with Clamps (LHS & RHS)  x2

A

J

M10 Spring Washer x2

I

M10 Bolt x2

G

M8 Allen Head Screw x4

H

M6 x 40 
Phillips Head Screw x1

F

Drain Plugs x2

E

PO

3M Primer Stick x1

M

3mm Spacer 
(Sportsbar only) x4

N

Lubricant Spray x1

L

M10 Flat Washer x2

K

M10 Bolt x2

Roll-R-Cover x1 Remote FOB x2Wiring Harness x1

Fitting Instructions x1

Allen KeysDrill or Drill Bit

Drain Hose x4

Silicone Sealant

Fitting Instruction x1

D

M10 Spring Washer x2

EB

M10 Flat Washer x2

A

M10 Bolt x2

C

M8 Flat Washer x4

FI Doc No: FI -    Issue: 1   -  17/11/16A4RS 07

Part Description Part Number Quality/
Length

CHECK LIST

TAIL LOCK ASSEMBLY

1

5

1

2

1

1

1

1

Main Bracket H18-A

Eyelet 

Actuator Screws

H18-B

36

Actuator

OTHER

Push on Clips

ACT-01

41

Wiring

Cable Ties

CL-LOOM-LONG

FASTENERS

Fitting Instruction

X-PATCHPatch Wiring 1



Page 03 of 10

S t e p  1

S t e p  2

Fit Eyelet into actuator striker. 

Assemble the actuator to the TailLock bracket.



Page 04 of 10

S t e p  3

S t e p  4

Remove tail gate cover.

B CRemove arm rods (b)



Page 05 of 10

S t e p  5

S t e p  6

Unfasten bolts (i)

Place TailLock assembly as shown and fasten bolts (i). Fit push on clip (b) as shown.

i

b



Page 06 of 10

S t e p  7

S t e p  8

1) Route the CL - Loom-long  harness
along the LHS chassis rail to the grommet
underneath the LHS front seat.

2) Secure the wiring every 400mm with
the cable ties provided.

3) Make a slit in the grommet, pass the
actuator wiring harness through the grom-
met (1) and using silicon, reseal the slit.

1) Plug CL - Loom-long wiring to actuator end.
2) Route the CL -Loom-long  harness (1) out of the tailgate and underneath the

vehicle.

1



Page 07 of 10

S t e p  9

S t e p  1 0

At the front passenger side foot well area:
- Remove front passenger scuff plate (1)
- Remove the kick panel trim nut (2)
- Remove the kick panel (3)

STEP

07
Route the actuator wiring harness along the LHS chassis rail
to the grommet underneath LHS front seat. 

Secure the harness to the chassis rail using cable ties approx.
every 500mm

Cut a slit in the grommet (1), pass the actuator wiring harness
through the grommet (1) and using silicone sealant, reseal the 
grommet. 

STEP

08
At the front passenger side foot well area:

- Remove front passenger scuff plate (1)

- Remove the kick panel trim nut (2)

- Remove the kick panel (3)

STEP

09
Continue routing the actuator wiring harness (1) through the 
grommet, along the door sill up to the LHS kick panel, following
the existing vehicle harness. 

1

1
2
3

1

STEP

07
Route the actuator wiring harness along the LHS chassis rail
to the grommet underneath LHS front seat. 

Secure the harness to the chassis rail using cable ties approx.
every 500mm

Cut a slit in the grommet (1), pass the actuator wiring harness
through the grommet (1) and using silicone sealant, reseal the 
grommet. 

STEP

08
At the front passenger side foot well area:

- Remove front passenger scuff plate (1)

- Remove the kick panel trim nut (2)

- Remove the kick panel (3)

STEP

09
Continue routing the actuator wiring harness (1) through the 
grommet, along the door sill up to the LHS kick panel, following
the existing vehicle harness. 

1

1
2
3

1

Continue routing  CL - Loom-long wiring harness (1) through the grommet, along the door sill up to the 
LHS kick panel, following the existing vehicle harness. 



Page 08 of 10

S t e p  1 1

S t e p  1 2

Locate and disconnect the 20-way 
hybrid junction connector (1) in the 
passenger side kick panel area. 

House the Blue and Red lamp
vehicle x-patch harness terminals (2)
into the rear of the connector cavities
in the positions show: 

Identify the two Lock/Unlock terminal
wires as shown:

STEP

10
Locate and disconnect the 20-way hybrid junction connector (1)
in the passenger side kick panel area .

Identify the two Lock/Unlock terminal wires as shown:

STEP

11
Using a precison screw driver, unclip the connector secondary 
lock (1).

Carefully remove the two Lock/Unlock wires from the rear of the
connector using a precison screw driver. 

House the Blue and Green lamp vehicle patch harness terminals
(2) into the rear of the connector cavities in the positions shown:
     Blue Wire Upper Cavity (3)
     Green Wire Lower Cavity (4)

Push the 20-way connector secondary lock (1) into place to retain
terminals. 

STEP

12
House the previously removed vehicle lock terminals into the
supplied 1-way female connectors (1)

Push the secondary lock into place to retain terminals.

Connectt the vehicle patch harness BLUE wire 1-way male
connector (2) to the vehile BLACK wite 1-way female connector

Connect the vehicle patch harness GREEN wire 1-way male
connector (3) to the vehicle WHITE wire 1-way female connector

Reconnect the 20-way hybrid junction connector to the vehicle.

1

1

Connector Pin 10: Lock / Black Wire
Connector Pin 20: Unlock / White Wire

3

4

1

2

1

3
2

STEP

10
Locate and disconnect the 20-way hybrid junction connector (1)
in the passenger side kick panel area .

Identify the two Lock/Unlock terminal wires as shown:

STEP

11
Using a precison screw driver, unclip the connector secondary 
lock (1).

Carefully remove the two Lock/Unlock wires from the rear of the
connector using a precison screw driver. 

House the Blue and Green lamp vehicle patch harness terminals
(2) into the rear of the connector cavities in the positions shown:
     Blue Wire Upper Cavity (3)
     Green Wire Lower Cavity (4)

Push the 20-way connector secondary lock (1) into place to retain
terminals. 

STEP

12
House the previously removed vehicle lock terminals into the
supplied 1-way female connectors (1)

Push the secondary lock into place to retain terminals.

Connectt the vehicle patch harness BLUE wire 1-way male
connector (2) to the vehile BLACK wite 1-way female connector

Connect the vehicle patch harness GREEN wire 1-way male
connector (3) to the vehicle WHITE wire 1-way female connector

Reconnect the 20-way hybrid junction connector to the vehicle.

1

1

Connector Pin 10: Lock / Black Wire
Connector Pin 20: Unlock / White Wire

3

4

1

2

1

3
2

STEP

10
Locate and disconnect the 20-way hybrid junction connector (1)
in the passenger side kick panel area .

Identify the two Lock/Unlock terminal wires as shown:

STEP

11
Using a precison screw driver, unclip the connector secondary 
lock (1).

Carefully remove the two Lock/Unlock wires from the rear of the
connector using a precison screw driver. 

House the Blue and Green lamp vehicle patch harness terminals
(2) into the rear of the connector cavities in the positions shown:
     Blue Wire Upper Cavity (3)
     Green Wire Lower Cavity (4)

Push the 20-way connector secondary lock (1) into place to retain
terminals. 

STEP

12
House the previously removed vehicle lock terminals into the
supplied 1-way female connectors (1)

Push the secondary lock into place to retain terminals.

Connectt the vehicle patch harness BLUE wire 1-way male
connector (2) to the vehile BLACK wite 1-way female connector

Connect the vehicle patch harness GREEN wire 1-way male
connector (3) to the vehicle WHITE wire 1-way female connector

Reconnect the 20-way hybrid junction connector to the vehicle.

1

1

Connector Pin 10: Lock / Black Wire
Connector Pin 20: Unlock / White Wire

3

4

1

2

1

3
2

Using a precision screw driver, unclip
the connector secondary lock (1).
Carefully remove the two Lock/
Unlock wires from the rear of the
connector using a precision screw 
driver.

Push the 20-way connector
secondary lock (1) into place to 
retain
terminals.

Blue

Red

Red Wire Upper Cavity (3)
Blue Wire Lower Cavity (4).



Page 09 of 10

S t e p  1 3

S t e p  1 4

STEP

10
Locate and disconnect the 20-way hybrid junction connector (1)
in the passenger side kick panel area .

Identify the two Lock/Unlock terminal wires as shown:

STEP

11
Using a precison screw driver, unclip the connector secondary 
lock (1).

Carefully remove the two Lock/Unlock wires from the rear of the
connector using a precison screw driver. 

House the Blue and Green lamp vehicle patch harness terminals
(2) into the rear of the connector cavities in the positions shown:
     Blue Wire Upper Cavity (3)
     Green Wire Lower Cavity (4)

Push the 20-way connector secondary lock (1) into place to retain
terminals. 

STEP

12
House the previously removed vehicle lock terminals into the
supplied 1-way female connectors (1)

Push the secondary lock into place to retain terminals.

Connectt the vehicle patch harness BLUE wire 1-way male
connector (2) to the vehile BLACK wite 1-way female connector

Connect the vehicle patch harness GREEN wire 1-way male
connector (3) to the vehicle WHITE wire 1-way female connector

Reconnect the 20-way hybrid junction connector to the vehicle.

1

1

Connector Pin 10: Lock / Black Wire
Connector Pin 20: Unlock / White Wire

3

4

1

2

Installation complete. Please place these fitting instructions 
inside owner’s manual wallet in the glove compartment

STEP

02
House the actuator wiring harness terminals (1) into the supplied
2-way male connector (2) as shown. 

Connect the actuator wiring harness to the vehicle patch harness
2-way connector (3).

STEP

02
Check that the wiring harness and vehicle patch harness are
securely attached to the main vehicle harnesses. 

Re�t all components as per the applocable vehicle and accessory
repair manual, �tting instructions and owner’s manuals:

1 2

2

1 - GREEN
2 - BLUE

1

1 2 3

Installation complete. Please place these fitting instructions 
inside owner’s manual wallet in the glove compartment

STEP

02
House the actuator wiring harness terminals (1) into the supplied
2-way male connector (2) as shown. 

Connect the actuator wiring harness to the vehicle patch harness
2-way connector (3).

STEP

02
Check that the wiring harness and vehicle patch harness are
securely attached to the main vehicle harnesses. 

Re�t all components as per the applocable vehicle and accessory
repair manual, �tting instructions and owner’s manuals:

1

1 2 31 2

2

 2 - White

House the lock/unlock wiring 
terminals, previously removed from 
the vehicle harness (1) into the 
supplied 2-way male connector (2) 
as shown, now Connect the 
actuator wiring harness to the 
vehicle patch harness 2-way 
connector (3).

Check the wiring harness and vehicle 
patch harness are securely attached 
to the main vehicle harnesses. 

1 - BLack

Connect  X-PATCH loom to CL-LOOM-LONG



Page 10 of 10

S t e p  1 5

Place and fasten tail gate cover. 

B CF i t t i n g  c o m p l e t e




